
Blatt 1
Ergänze die Rechenzeichen und berechne die Ergebnisse

Addition Subtraktion      Multiplikation Division

3456 345 2345 3  = 956 : 4  =
34565 124

56236 234523
23176 2342 9876 12  =

56
5613

861 : 7  =
968
234

3456 1223 123  =
3457

234553
87668
23452

45 5472 : 12  =
45467 235,6 12  =

376 2345
34565 2344

3456,34 568756 87,53 2,7  =
23,06 1234

562,01 589 : 9,5  =

33451
23456 2345 78963,3 3  =

2345
2345

123
4532 123123

12344 9899
12345 : 7  =

12345,6 7,89  =
234 23453
978 234

9765


